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46. The scientists .......... successful when they solved the problem and found answers to their questions.
1) was feeling 2) felt 3) were feeling 4) feel
47. A:.......... use your camera for my trip?
B: Honestly, no. I need it this week.
1) may I 2) I may 3) must I 4) I must
48. The airplane is one of the greatest .......... of human.
1) changes 2) personalities 3) scientists 4) inventions
49. When you have a flight among your country’s cities you need to go to the .......... flights.
1) domestic 2) foreign 3) cultural 4) international
50. Can you give me another .......... to be a good traveler?
1) wildlife 2) desert 3) attention 4) suggestion
51. One of the greatest men says that “I never quit until I get what ’m .......... R
1) between 2) after 3) before 4) behind
52. ... is a necessary part of the tourism industry but not the only element.
1) Production 2) Activity 3) Hospitality 4) Destination
Cloze Test:
We spent ten days in Hyeres a (53) ....... resort in the south of france. We (54) ....... to Nice, then got a bus
to Hyeres. We rented an apartment near the beach. | was happy to lie (55) ....... the beach and sunbathe in
my new swimming cloth; my husband (56) ....... a T- shirt and long shorts. He went swimming a lot.
53.
1) register 2) holiday 3) booklet 4) research
54.
1) quit 2) tried 3) grew 4) flew
5S.
1) in 2) for 3) on 4) at
56.
1) preferred 2) entertained 3) changed 4) attracted
Reading:

Tourism is 2000 years old. It started when rich people of the ancient Rome didn’t want to stay in the city
during hot summers. They took trips to the seaside and the countryside. Local people living in those areas
worked for the Roman ‘tourists’, cooked for them or built new houses for them.

Another form of tourism became popular during the Middle Ages (1100-1500 AD). The travelers who went on
this difficult journey were called pilgrims. Pilgrims were people who wanted to visit holy places. people built
simple inns near the roads to these holy places. The pilgrims slept and ate in these inns. Many of these
people had a good time during their travel, or pilgrimages.

But it was in the eighteenth century when tourism became popular. Rich people in Europe started to travel
to get more familiar with different cultures. They visited seaside towns and other interesting or historical
sites to rest and enjoy fresh air.

In the twentieth century a lot of Europeans got richer and wanted to travel even more. Soon there were
hotels almost everywhere. In the 1960s, tourists started to travel by plane because it was cheap, fast, and
comfortable. People all around the world discovered new destinations like Italy, Spain and France.

Today these countries are still popular with tourists. China and Iran in Asia, the USA in American continent,
and Egypt in Africa are also among the most popular holiday destinations which attract a lot of tourists.

57. What is the best title for this passage?
1) a brief history of tourism 2) tourism 2000 years ago
3) different kinds of tourism 4) European tourists.

58. The underlined word “inn” in the second paragraph is closest in meaning to ......... .
1) building 2) continent 3) countryside 4) hotel

59. Which of these sentences are NOT true according to passage?
1) pilgrimage became popular in the Middle Ages.
2) Italy, Spain and Iran are the new destinations since the 1960s.
3) It was in the eighteenth century when tourism became popular.
4) Culture is an important attraction for the travelers.

60. Which of the following wasn't mentioned in this text by tourists?
1) France 2) Italy 3) Egypt 4) Oceania
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